
M
o

to
r 

m
o

u
n

t 
H

IC
s

15.1

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

Q
u

ic
k 

re
fe

re
n

ce

Symbol Description Motor Model No. Page

V

V 3

V 4

OMH

6

OMT 7

Symbol Description Motor Model No. Page

MBMA

BA

V 8

V 9

V

OMH 3

3

OMT 33

Symbol Description Motor Model No. Page

BA

MBMA V 34

V 3

V 36

OMH 37

38

OMT 39

Symbol Description Motor Model No. Page

SA B

MA MB V 9

V

V

OMH

3

OMT 4

Symbol Description Order No. Page

A1 B1 A2 B2 A3 B3 A4 B4

DH/DS
MOUNT

OMP/OMR/OMH
MOUNT

OMS
MOUNT

OMT
MOUNT

P104



M
o

to
r m

o
u

n
t H

IC
s

15.2

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

Q
u

ick referen
ce

Symbol Description Motor Model No. Page
MBMA

BA S

V 46

V 47

V 48

OMH 49

OMT

Symbol Description Motor Model No. Page

S BA

MBMA V

V 3

V 4

OMH

6

OMT 7

Symbol Description Motor Model No. Page
MBMA

BA

6 8

6 9

6

Symbol Description Motor Model No. Page
MBMA

BA

OMH 6

6

OMT 63



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.3

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

Q
u

ic
k 

re
fe

re
n

ce

Symbol Description Motor Model No. Page

A B

MA MB 6 64

6 6

6 66

Symbol Description Motor Model No. Page

A B

MA MB OMH 67

68

OMT 69

Symbol Description Motor Model No. Page

A B

MA MB 6

6 7

6 7

Symbol Description Motor Model No. Page

A B

MA MB OMH 73

74

OMT 7



M
o

to
r m

o
u

n
t H

IC
s

15.4

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

Q
u

ick referen
ce

Symbol Description Motor Model No. Page

S

MBMA

BA

6 76

6 77

6 78

Symbol Description Motor Model No. Page

S

MBMA

BA

OMH 79

OMT 8

Symbol Description Motor Model No. Page

A B

MA MB

S

6 8

6 83

6 84

Symbol Description Motor Model No. Page

A B

MA MB

S

OMH 8

86

OMT 87



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.5

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

Q
u

ic
k 

re
fe

re
n

ce

Symbol Description Motor Model No. Page

A B

MA MB

S

6 88

6 89

6

Symbol Description Motor Model No. Page

A B

MA MB

S

OMH 9

9

OMT 93

Symbol Description Motor Model No. Page

MBMA

BA D

94

9

96

OMH 97

98

3 99

Symbol Description Motor Model No. Page
MBMA

BA D

A B

P

P

P

OMH P 3

P 4

OMT P



M
o

to
r m

o
u

n
t H

IC
s

15.6

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

A
p

p
licatio

n
 n

o
tes

OVERVIEW

Motor mount HIC family

Off-the-shelf

FUNCTIONS

ADVANTAGES



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.7

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

A
p

p
lic

at
io

n
 n

o
te

s

ORBITAL MOTORS

Sauer-Danfoss orbital motors compatible with HICs

Motor
type

Units
Displacement 

range

Max pressure 
drop* 

[continuous]

Max pressure 
drop* 

[intermittent]

Max flow* 
[continuous] 

Max flow*  
[intermittent]

Port style for 
HIC mount

Technical 
Information

Manifold
Metric

Metric

OMP

OMH and 

Metric

Metric

OMH
Metric

Metric

OMT
Metric

Motor rotation

Order code

AB BA

Motor rotation

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 110-350 bar [1595-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure
1 = 1 bar (14.5 psi)

Dual counterbalance
valve

Type
HV=Hydraulic Vent

Motor mount

Secondary valve
00 = No valve

Motor code

Part #
11019287
11019288

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

Sample order code



M
o

to
r m

o
u

n
t H

IC
s

15.8

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

A
p

p
licatio

n
 n

o
tes

Important notesORBITAL MOTORS
(continued)

A1 B1 A2 B2 A3 B3 A4 B4

DH/DS
MOUNT

OMP/OMR/OMH
MOUNT

OMS
MOUNT

OMT
MOUNT

P104 778E

Test block schematicTesting

11025000

Accessories



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.9

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

A
p

p
lic

at
io

n
 n

o
te

s

COUNTERBALANCE
VALVES

Dual counterbalance valve

Dual counterbalance valve

SA B

MA MB

A B

MA MB

With Shuttle Without Shuttle

P1
04

 7
87

Counterbalance 
valves, section 9



M
o

to
r m

o
u

n
t H

IC
s

15.10

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

A
p

p
licatio

n
 n

o
tes

Sample system circuits
Motor with dual counterbalance valve

COUNTERBALANCE
VALVES (continued)

P104 779

Dual counterbalance valve

Moving the directional control valve to 
the left causes the motor to rotate in one 

When the directional control valve is 

If the load causes the motor to overrun 

decreases and the valve modulates to 

Typical application of dual counterbalance valve 
in a motor circuit.



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.11

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

A
p

p
lic

at
io

n
 n

o
te

s

Motor with dual counterbalance valve and shuttle operating a brake and unloading valveCOUNTERBALANCE
VALVES (continued)

P104 780

Dual counterbalance with shuttle

Motor with integral brake, system includes 
pump unloading valve.

When the directional control valve shifts 

When the directional control valve is 

When the directional control valve shifts 



M
o

to
r m

o
u

n
t H

IC
s

15.12

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

A
p

p
licatio

n
 n

o
tes

CROSS-PORT RELIEF
VALVES

Cross-port relief valve

Relief Valves

A B

MA MB

S A B

MA MB

P1
04

 7
88

With Shuttle Without Shuttle

Dual cross-port relief with shuttle



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.13

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

A
p

p
lic

at
io

n
 n

o
te

s

Sample system circuits
Motor with dual cross-port relief

CROSS-PORT RELIEF
VALVES  (continued)

valve to the left causes the motor to 

P104 781

Dual cross-port relief

Simple rotary circuit with dual cross-port 
relief valve.



M
o

to
r m

o
u

n
t H

IC
s

15.14

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

A
p

p
licatio

n
 n

o
tes

Motor with dual cross-port relief, and shuttle operating a brake and unloading valveCROSS-PORT RELIEF
VALVES  (continued)

When the directional control valve shifts 

When the directional control valve is 

When the directional control valve shifts 

P104 782

Dual cross-port relief with shuttle

Motor with integral brake, system includes 
pump unloading valve.



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.15

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

A
p

p
lic

at
io

n
 n

o
te

s

BYPASS SOLENOID
VALVES

Bypass solenoid valve with robust coil

MBMA

BA D
P104 750

Bypass solenoid

Solenoid valves



M
o

to
r m

o
u

n
t H

IC
s

15.16

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

A
p

p
licatio

n
 n

o
tes

Sample system circuits
Motor with drain, no directional valve

BYPASS SOLENOID
VALVES (continued)

You can eliminate the motor drain line to 

Bypass solenoid with drain port

P104 785

This circuit has no directional valve. The solenoid 
bypass valve controls motor rotation (on/off).



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.17

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

A
p

p
lic

at
io

n
 n

o
te

s

Motors in seriesBYPASS SOLENOID
VALVES (continued)

P104 786

Bypass solenoid valve with motors in series

This circuit uses three motors in series with a solenoid operated directional valve and pump relief.



M
o

to
r m

o
u

n
t H

IC
s

15.18

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

A
p

p
licatio

n
 n

o
tes

DUAL SHOCK VALVE
WITH ANTICAVITATION
CHECKS

Dual shock valve with anticavitation checks

MBMA

BA D

A B

P104 763

Dual shock valve with anticavitation checks

PVG 32 Technical Information Manual 520L0344



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.19

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

A
p

p
lic

at
io

n
 n

o
te

s

Sample system circuit
Single motor with drain, open center/closed port directional valve

Dual shock valve with anticavitation checks

P104 783

Single motor with closed center directional 
valve and system relief valve. Connection at 

port D is necessary for anticavitation function.

DUAL SHOCK VALVE
WITH ANTICAVITATION
CHECKS (continued)



M
o

to
r m

o
u

n
t H

IC
s

15.20

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index

A
p

p
licatio

n
 n

o
tes

P104 784

Dual shock valve with motor drainUsing anticavitation checks as drain checks

to the reservoir through the directional 

in this circuit discharge through the 

DUAL SHOCK VALVE
WITH ANTICAVITATION
CHECKS (continued)

Single motor with drain shown. Connect motor 
drain to port D on HIC to use anticavitation checks 

as drain checks. This defeats anticavitation function.



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.21

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

Schematic Diagram

Rated pressure

Weight

Ports

A1/B1 (DH/DS)

A2/B2 (OMP/OMR/OMH)

A3/B3 (OMS)

A4/B4 (OMT)

A1 B1 A2 B2 A3 B3 A4 B4

DH/DS
MOUNT

OMP/OMR/OMH
MOUNT

OMS
MOUNT

OMT
MOUNT

P104 903

M10 X 1.5
6 Places

227.3
[8.95]

0

161.7
[6.37]

78.5
[3.09]

30.5
[1.20]

0

3
5

.6
[1

.4
0

]

1
1

1
.8

[4
.4

0
]

279.4
[11.00]

250.3
[9.85]

183.7
[7.23]

114.5
[4.51]

30.5
[1.20]

3
5

.6
[1

.4
0

]

7
3

.7
[2

.9
0

]

3
4

.3
[1

.3
5

]

8
0

.0
[3

.1
5

]

3
9

.1
[1

.5
4

]

7
5

.2
[2

.9
6

]

3
7

.2
[1

.4
6

]

7
7

.1
[3

.0
4

]

4
1

.4
[1

.6
3

]

7
3

.2
[2

.8
8

]

227.3
[8.95]

161.7
[6.37]

78.5
[3.09]

250.3
[9.85]

183.7
[7.23]

114.5
[4.51]

30.5
[1.20]

M8 X 1.25
4 Places

5/16-18 UNC-2B
4 Places

-112 O-ring
Spotface

0

0

0

0

0

0

P104 904

11025000

M
M

H
IC

Te
st

B
lo

ck
 - 

1
1

0
2

5
0

0
0



M
o

to
r m

o
u

n
t H

IC
s

15.22

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow
P1

04
 8

83

HIC Includes:
- 5/16-18 x 2.5" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (2X)

4X 5/16-18x63.5mm [2.5in]
0.25in
24.4 Nm [18 lbf-ft]

62.8
[2.47]

73.9
[2.91]

APPROX

APPROX

131.1
[5.16]

54.9
[2.16]

86.4
[3.40]

22.9
[0.90]

57.0
[2.25]

79.8
[3.14]

MA MB

CART. ACART. B

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 110-350 bar [1595-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure
1 = 1 bar (14.5 psi)

Dual counterbalance
valve

Type
HV=Hydraulic Vent

Motor mount

Secondary valve
00 = No valve

Motor code

Part #
11019287
11019288

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

Weight

Pilot ratio

Cartridge V

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
H

-0
0

-D
C

B
1

0
-H

V



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.23

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow

P1
04

 8
83

HIC Includes:
- 5/16-18 x3.0" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (4X)
- Sub-plate

4X 5/16-18x76.2mm [3.0in]
0.25in
24.4 Nm [18 lbf-ft]

MBMA22.9
[0.90]

57.0
[2.25]

79.8
[3.14] APPROX

86.6
[3.41]

62.8
[2.47]

APPROX

131.1
[5.16]

86.4
[3.40]54.9

[2.16]

CART. B CART. A

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 110-350 bar [1595-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure
1 = 1 bar (14.5 psi)

Dual counterbalance
valve

Type
HV=Hydraulic Vent

Motor mount

Secondary valve
00 = No valve

Motor code

Part #
11019287
11019288

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

Weight

Pilot ratio

Cartridge V

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
S-

0
0

-D
C

B
1

0
-H

V



M
o

to
r m

o
u

n
t H

IC
s

15.24

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow
P1

04
 8

83

50.0
[1.97]

61.8
[2.43]

APPROX

18.4
[0.72]

79.4
[3.12]

96.5
[3.80]

32.0
[1.26]

54.4
[2.14]86.3

[3.40]

MB

MA

131.1
[5.16]

44.7
[1.76]

APPROXAPPROX

4X M8x1.25x50mm [1.97in]
6mm
40 Nm [30 lbf-ft]

CB10-HV

HIC Includes:
- M8x50mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

CART. B

CART. A

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 110-350 bar [1595-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure
1 = 1 bar (14.5 psi)

Dual counterbalance
valve

Type
HV=Hydraulic Vent

Motor mount

Motor code

Secondary valve
00 = No valve

Part #
11026313
11026314

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

Weight

Pilot ratio

Cartridge V

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

P
/O

M
R

-0
0

-D
C

B
1

0
-H

V



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.25

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

141.9
[5.59]

APPROX

40.4
[1.59]

APPROX

MA MB

74.3
[2.93]

62.7
[2.47]

APPROX

38.1
[1.50]

63.5
[2.50]

101.6
[4.00]

99.1
[3.90]76.2

[3.00]
22.9
[0.90]

CP441-1

4X M8x1.25x60mm [2.36in]
6mm
40 Nm [30 lbf-ft]

HIC Includes:
- M8x60mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

CART. A

CART. B

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Dual counterbalance
valve

Motor mount

Motor code

Secondary valve
00 = No valve

Seals
B = Buna-N
V = Viton

Cartridge seal kit
120335
120336

Part #
11026315
11026316

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

Weight

Pilot ratio

Cartridge

Motor OMH

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

H
-0

0
-D

C
P

4
4

1
-1



M
o

to
r m

o
u

n
t H

IC
s

15.26

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

101.6
[4.00]

63.5
[2.50]

38.1
[1.50]

16.5
[0.65]

95.1
[3.75]

111.8
[4.40]

APPROX

62.7
[2.47]

74.5
[2.93] APPROX

40.4
[1.59]

APPROX

142.0
[5.59]

MBMA

2X M10x1.5x60mm [2.36in]
8mm
75 Nm [55 lbf-ft]

CP441-1
HIC Includes:

- M10x60mm bolts (2X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

CART. A CART. B

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Cartridge seal kit
120335
120336

Dual counterbalance
valve

Secondary valve
00 = No valve

Motor code

Motor mount

Seals
B = Buna-N
V = Viton

Part #
11026317
11026318

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

Weight

Pilot ratio

Cartridge

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

S-0
0

-D
C

P
4

4
1

-1



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.27

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

MB

116.8
[4.60]

78.7
[3.10]

22.9
[0.90]

76.2
[3.00]

99.1
[3.90]

62.7
[2.47]

71.7
[2.82]

157.2
[6.19]

APPROX

APPROX

MA

4X M10x1.5x60mm [2.36in]
8mm
75 Nm [55 lbf-ft]

HIC Includes:
- M10x60mm bolts (4X)
- (-123) O'rings,Viton

(29.82x2.62 mm) (2X)

CP441-1
CART. ACART. B

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

Housing and ports Body P/N
12S = Al, #12 SAE 11019295
6B = Al, 3/4 BSP 11019296

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Cartridge seal kit
120335
120336

Seals
B = Buna-N
V = Viton

Dual counterbalance
valve

Secondary valve
00 = No valve

Motor code

Motor mount

Weight

Pilot ratio

Cartridge

Motor OMT

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

T-
0

0
-D

C
P

4
4

1
-1



M
o

to
r m

o
u

n
t H

IC
s

15.28

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow
P1

04
 8

83

MBMA

BA
P104 606

CP10
PLUG

CB10-HV

79.8
[3.14]

57.0
[2.25]

22.9
[0.90]

86.4
[3.40]

54.9
[2.16]

131.1
[5.16]

APPROX

APPROX

73.9
[2.91]

62.8
[2.47]

MA MB
4X 5/16-18x63.5mm [2.5in]

1/4 in.
24.4 Nm [18 lbf-ft]

93.5
[3.68]

APPROX

HIC Includes:
- 5/16-18 x 2.5" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (2X)

P104 607

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 110-350 bar [1595-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure
1 = 1 bar (14.5 psi)

Single counterbalance
valve on 'A' port

Type
HV=Hydraulic Vent

Motor mount

Secondary valve
00 = No valve

Motor code

Part #
11019287
11019288

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 609

Weight

Pilot ratio

Cartridge V

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
H

-0
0

-A
C

B
1

0
-H

V



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.29

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow

P1
04

 8
83

MBMA

BA
P104 606

CB10-HV CP10
PLUG

131.1
[5.16]

93.5
[3.68]

62.8
[2.47]

86.6
[3.41]

APPROX
79.8
[3.14]

57.0
[2.25]

22.9
[0.90]

86.4
[3.40]54.9

[2.16]

APPROX

MA MB
4X 5/16-18x76.2mm [3.0in]

1/4 in.
24.4 Nm [18 lbf-ft]

APPROX

HIC Includes:
- 5/16-18 x 3.0" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (4X)
- Sub-plate

P104 610

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 90-350 bar [1305-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

MM-DS-00-ACB10-HV-1-C-1-E-100-B-10S

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure
1 = 1 bar (14.5 psi)

Single counterbalance
valve on 'A' port

Type
HV=Hydraulic Vent

Motor mount

Secondary valve
00 = No valve

Motor code

Part #
11019287
11019288

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 611

Weight

Pilot ratio

Cartridge V

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
S-

0
0

-A
C

B
1

0
-H

V



M
o

to
r m

o
u

n
t H

IC
s

15.30

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow
P1

04
 8

83

MBMA

BA
P104 606

CP10
PLUG

HIC Includes:
- M8x50mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

CB10-HV

4X M8x1.25x50mm [1.97in]
6mm
40 Nm [30 lbf-ft]

APPROX APPROX

44.7
[1.76]

93.4
[3.68]

MA

MB

86.3
[3.40]

54.4
[2.14]

32.0
[1.26]

96.5
[3.80]

79.4
[3.12]

18.4
[0.72]

APPROX

61.8
[2.43]

50.0
[1.97]

P104 612

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 90-350 bar [1305-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

MM-OMP/OMR-00-ACB10-HV-1-C-1-E-100-B-10S

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure
1 = 1 bar (14.5 psi)

Single counterbalance
valve on 'A' port

Type
HV=Hydraulic Vent

Motor mount

Motor code

Secondary valve
00 = No valve

Part #
11026313
11026314

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 613

Weight

Pilot ratio

Cartridge V

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

P
/O

M
R

-0
0

-A
C

B
1

0
-H

V



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.31

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

MBMA

BA
P104 606

CP12
PLUG

HIC Includes:
- M8x60mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

4X M8x1.25x60mm [2.36in]
6mm
40 Nm [30 lbf-ft]

CP441-1

22.9
[0.90]

76.2
[3.00]

99.1
[3.90]

101.6
[4.00]

63.5
[2.50]

38.1
[1.50]

APPROX

62.7
[2.47]

74.3
[2.93]

MBMA

APPROX

11.8
[0.46]

APPROX

141.9
[5.59]

P104 614

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Single counterbalance
valve on 'A' port

Motor mount

Motor code

Secondary valve
00 = No valve

Seals
B = Buna-N
V = Viton

Cartridge seal kit
120335
120336

Part #
11026315
11026316

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP P104 615

Weight

Pilot ratio

Cartridge

Plug

Motor OMH

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

H
-0

0
-A

C
P

4
4

1
-1



M
o

to
r m

o
u

n
t H

IC
s

15.32

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

MBMA

BA
P104 606

CP441-1

CP12
PLUG

HIC Includes:
- M10x60mm bolts (2X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

2X M10x1.5x60mm [2.36in]
8mm
75 Nm [55 lbf-ft]

MA MB

142
[5.59]

APPROX

11.8
[0.46]

APPROX
74.5
[2.93]

62.7
[2.47]

APPROX

111.8
[4.40]

95.1
[3.75]16.5

[0.65]

38.1
[1.50]

63.5
[2.50]101.6

[4.00]
P104 616

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Cartridge seal kit
120335
120336

Single counterbalance
valve on 'A' port

Secondary valve
00 = No valve

Motor code

Motor mount

Seals
B = Buna-N
V = Viton

Part #
11026317
11026318

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP P104 617

Weight

Pilot ratio

Cartridge

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

S-0
0

-A
C

P
4

4
1

-1



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.33

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

MBMA

BA
P104 606

CP12
PLUG

128.6
[5.06]

APPROX

CP441-1

HIC Includes:
- M10x60mm bolts (4X)
- (-123) O'rings,Viton

(29.82x2.62 mm) (2X)

4X M10x1.5x60mm [2.36in]
8mm
75 Nm [55 lbf-ft]

MA

APPROX

APPROX

157.2
[6.19]

71.7
[2.82]

62.7
[2.47]

99.1
[3.90]

76.2
[3.00]

22.9
[0.90]

78.7
[3.10]

116.8
[4.60]

MB

P104 618

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

Housing and ports Part #
12S = Al, #12 SAE 11019295
6B = Al, 3/4 BSP 11019296

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Cartridge seal kit
120335
120336

Seals
B = Buna-N
V = Viton

Single counterbalance
valve on 'A' port

Secondary valve
00 = No valve

Motor code

Motor mount

P104 619

Weight

Pilot ratio

Cartridge

Plug

Motor OMT

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

T-
0

0
-A

C
P

4
4

1
-1



M
o

to
r m

o
u

n
t H

IC
s

15.34

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow
P1

04
 8

83

BA

MBMA

P104 620

CB10-HVCP10
PLUG

79.8
[3.14]

57.0
[2.25]

22.9
[0.90]

86.4
[3.40]54.9

[2.16]

131.1
[5.16]

APPROX

APPROX

73.9
[2.91]

62.8
[2.47]

MA MB

4X 5/16-18x63.5mm [2.5in]
1/4 in.
24.4 Nm [18 lbf-ft]

93.5
[3.68]

APPROX

HIC Includes:
- 5/16-18 x 2.5" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (2X)

P104 621

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 90-350 bar [1305-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

MM-DH-00-BCB10-HV-1-C-1-E-100-B-10S

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure

Single counterbalance
valve on 'B' port

Type
HV=Hydraulic Vent

Motor mount

Secondary valve
00 = No valve

Motor code

Part #
11019287
11019288

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 622

Weight

Pilot ratio

Cartridge V

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
H

-0
0

-B
C

B
1

0
-H

V



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.35

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow

P1
04

 8
83

BA

MBMA

P104 620

CP10
PLUG

CB10-HV

62.8
[2.47]

86.6
[3.41]

APPROX
79.8
[3.14]

57.0
[2.25]

22.9
[0.90]

86.4
[3.40]54.9

[2.16]

131.1
[5.16]

APPROX

MA MB

4X 5/16-18x76.2mm [3.0in]
1/4 in.
24.4 Nm [18 lbf-ft]

93.5
[3.68]

APPROX

HIC Includes:
- 5/16-18 x 3.0" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (4X)

P104 623

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 90-350 bar [1305-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

MM-DS-00-BCB10-HV-1-C-1-E-100-B-10S

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure
1 = 1 bar (14.5 psi)

Single counterbalance
valve on 'B' port

Type
HV=Hydraulic Vent

Motor mount

Secondary valve
00 = No valve

Motor code

Part #
11019287
11019288

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 624

Weight

Pilot ratio

Cartridge V

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
S-

0
0

-B
C

B
1

0
-H

V



M
o

to
r m

o
u

n
t H

IC
s

15.36

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow
P1

04
 8

83

BA

MBMA

P104 620

CP10
PLUG

HIC Includes:
- M8x50mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

CB10-HV

4X M8x1.25x50mm [1.97in]
6mm
40 Nm [30 lbf-ft]

APPROX APPROX

7.1
[0.28]

131.1
[5.16]

MA

MB

86.3
[3.40]

54.4
[2.14]

32.0
[1.26]

96.5
[3.80]

79.4
[3.12]

18.4
[0.72]

APPROX

61.8
[2.43]

50.0
[1.97]

P104 625

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 90-350 bar [1305-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

MM-OMP/OMR-00-BCB10-HV-1-C-1-E-100-B-10S

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure
1 = 1 bar (14.5 psi)

Single counterbalance
valve on 'B' port

Type
HV=Hydraulic Vent

Motor mount

Motor code

Secondary valve
00 = No valve

Part #
11026313
11026314

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 626

Weight

Pilot ratio

Cartridge V

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

P
/O

M
R

-0
0

-B
C

B
1

0
-H

V



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.37

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

BA

MBMA

P104 620

CP12
PLUG

HIC Includes:
- M8x60mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

4X M8x1.25x60mm [2.36in]
6mm
40 Nm [30 lbf-ft]

CP441-1

22.9
[0.90]

76.2
[3.00]

99.1
[3.90]

101.6
[4.00]

63.5
[2.50]

38.1
[1.50]

APPROX

62.7
[2.47]

74.3
[2.93]

MBMA

APPROX

40.4
[1.59]

APPROX

113.4
[4.46]

P104 627

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Single counterbalance
valve on 'B' port

Motor mount

Motor code

Secondary valve
00 = No valve

Seals
B = Buna-N
V = Viton

Cartridge seal kit
120335
120336

Part #
11026315
11026316

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 628

Weight

Pilot ratio

Cartridge

Plug

Motor OMH

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

H
-0

0
-B

C
P

4
4

1
-1



M
o

to
r m

o
u

n
t H

IC
s

15.38

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

BA

MBMA

P104 620

CP441-1

CP12
PLUG

HIC Includes:
- M10x60mm bolts (2X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

2X M10x1.5x60mm [2.36in]
8mm
75 Nm [55 lbf-ft]

MA MB

113.4
[4.46]

APPROX

40.4
[1.59]

APPROX
74.5
[2.93]

62.7
[2.47]

APPROX

111.8
[4.40]

95.1
[3.75]16.5

[0.65]

38.1
[1.50]

63.5
[2.50]101.6

[4.00]

P104 629

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Cartridge seal kit
120335
120336

Single counterbalance
valve on 'B' port

Secondary valve
00 = No valve

Motor code

Motor mount

Seals
B = Buna-N
V = Viton

Part #
11026317
11026318

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 630

Weight

Pilot ratio

Cartridge

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

S-0
0

-B
C

P
4

4
1

-1



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.39

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

BA

MBMA

P104 620

128.6
[5.06]

APPROX

HIC Includes:
- M10x60mm bolts (4X)
- (-123) O'rings,Viton

(29.82x2.62 mm) (2X)

4X M10x1.5x60mm [2.36in]
8mm
75 Nm [55 lbf-ft]

MA

APPROX

APPROX

157.2
[6.19]

71.7
[2.82]

62.7
[2.47]

99.1
[3.90]

76.2
[3.00]

22.9
[0.90]

78.7
[3.10]

116.8
[4.60]

MB

CP441-1CP12
PLUG

P104 631

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

Housing and ports Part #
12S = Al, #12 SAE 11019295
6B = Al, 3/4 BSP 11019296

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Cartridge seal kit
120335
120336

Seals
B = Buna-N
V = Viton

Single counterbalance
valve on 'B' port

Secondary valve
00 = No valve

Motor code

Motor mount

P104 632

Weight

Pilot ratio

Cartridge

Plug

Motor OMT

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

T-
0

0
-B

C
P

4
4

1
-1



M
o

to
r m

o
u

n
t H

IC
s

15.40

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow
P1

04
 8

83

SA B

MA MB

P104 633

79.8
[3.14]

57.0
[2.25]

22.9
[0.90]

86.4
[3.40]54.9

[2.16]

131.1
[5.16]

APPROX

APPROX

73.9
[2.91]

62.8
[2.47]

MA MB

4X 5/16-18x63.5mm [2.5in]
1/4 in.
24.4 Nm [18 lbf-ft]

45.1
[1.77]

18.4
[0.73]

HIC Includes:
- 5/16-18 x 2.5" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (2X)

CART. ACART. B

P104 634

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 90-350 bar [1305-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

MM-DH-LS-DCB10-HV-1-C-1-E-100-B-10S

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure
1 = 1 bar (14.5 psi)

Dual counterbalance
valve

Type
HV=Hydraulic Vent

Motor mount

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Motor code

Part #
11026319
11026320

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 635

Weight

Pilot ratio

Cartridge V

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
H

-LS-D
C

B
1

0
-H

V



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.41

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow

P1
04

 8
83

SA B

MA MB

P104 633

4X 5/16-18x76.2mm [3.0in]
1/4 in.
24.4 Nm [18 lbf-ft]

MBMA

APPROX

86.6
[3.41]

62.8
[2.47]

18.4
[0.73] 54.9

[2.16]

86.4
[3.40]

22.9
[0.90]

45.1
[1.77]

57.0
[2.25]

79.8
[3.14]

HIC Includes:
- 5/16-18 x 3.0" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (4X)
- Sub-plate

APPROX

131.1
[5.16]

CART. ACART. B

P104 636

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 90-350 bar [1305-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

MM-DS-LS-DCB10-HV-1-C-1-E-100-B-10S

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure
1 = 1 bar (14.5 psi)

Dual counterbalance
valve

Type
HV=Hydraulic Vent

Motor mount

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Motor code

Part #
11026319
11026320

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 637

Weight

Pilot ratio

Cartridge V

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
S-

LS
-D

C
B

1
0

-H
V



M
o

to
r m

o
u

n
t H

IC
s

15.42

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow
P1

04
 8

83

SA B

MA MB

P104 633

50.0
[1.97]

61.8
[2.43]

APPROX

MB

MA

131.1
[5.16]

44.7
[1.76]

APPROXAPPROX

4X M8x1.25x50mm [1.97in]
6mm
40 Nm [30 lbf-ft]

CB10-HV

HIC Includes:
- M8x50mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

29.7
[1.17]

86.3
[3.40]

54.4
[2.14]

32.0
[1.26]

18.4
[0.72]

32.4
[1.28]

96.5
[3.80]79.4

[3.12]

CART. A

CART. B

P104 638

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 90-350 bar [1305-5076 psi]

MM-OMP/OMR-LS-DCB10-HV-1-C-1-E-100-B-10S

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Dual counterbalance
valve

Type
HV=Hydraulic Vent

Motor mount

Motor code

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Check crack pressure
1 = 1 bar (14.5 psi)

Part #
11026333
11026334

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 639

Weight

Pilot ratio

Cartridge V

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

P
/O

M
R

-LS-D
C

B
1

0
-H

V



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.43

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

SA B

MA MB

P104 633

HIC Includes:
- M8x60mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

4X M8x1.25x60mm [2.36in]
6mm
40 Nm [30 lbf-ft]

CP441-1

APPROX

62.7
[2.47]

74.3
[2.93]

MBMA

APPROX

40.4
[1.59]

APPROX

141.9
[5.59]

101.6
[4.00]

99.1
[3.90]

CART. B

CART. A
38.1
[1.50]

14.5
[0.57]

76.2
[3.00]

22.9
[0.90]

63.5
[2.50] P104 640

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Dual counterbalance
valve

Motor mount

Motor code

Secondary valve
LS = Load sense shuttle valve

Seals
B = Buna-N
V = Viton

Cartridge seal kit
120335
120336

Part #
11026321
11026332

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 641

Weight

Pilot ratio

Cartridge

Motor OMH

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

H
-L

S-
D

C
P

4
4

1
-1



M
o

to
r m

o
u

n
t H

IC
s

15.44

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

SA B

MA MB

P104 633

APPROX

62.7
[2.47]

74.5
[2.93] APPROX

40.4
[1.59]

APPROX

142.0
[5.59]

MBMACP441-1
HIC Includes:

- M10x60mm bolts (2X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

16.5
[0.65]

95.1
[3.75]

111.8
[4.40]

52.1
[2.05]

101.6
[4.00]

63.5
[2.50]

32.0
[1.26]

38.1
[1.50]

2X M10x1.5x60mm [2.36in]
8mm
75 Nm [55 lbf-ft]

P104 642

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Cartridge seal kit
120335
120336

Dual counterbalance
valve

Secondary valve
LS = Load sense shuttle valve

Motor code

Motor mount

Seals
B = Buna-N
V = Viton

Part #
11026335
11026336

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP P104 643

Weight

Pilot ratio

Cartridge

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

S-LS-D
C

P
4

4
1

-1



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.45

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

SA B

MA MB

P104 633

MB

62.7
[2.47]

71.7
[2.82]

APPROX

MA

4X M10x1.5x60mm [2.36in]
8mm
75 Nm [55 lbf-ft]

HIC Includes:
- M10x60mm bolts (4X)
- (-123) O'rings,Viton

(29.82x2.62 mm) (2X)

22.9
[0.90]

76.2
[3.00]99.1

[3.90]

39.1
[1.54]

66.7
[2.63]

116.8
[4.60]

78.7
[3.10]

157.2
[6.19]

APPROX

CART. B CART. A
CP441-1

P104 644

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Cartridge seal kit
120335
120336

Seals
B = Buna-N
V = Viton

Dual counterbalance
valve

Secondary valve
LS = Load sense shuttle valve

Motor code

Motor mount

Part #
11026337
11026338

Housing and ports
12S = Al, #12SAE
6B = Al, 3/4 BSP

P104 645

Weight

Pilot ratio

Cartridge

Motor OMT

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

T-
LS

-D
C

P
4

4
1

-1



M
o

to
r m

o
u

n
t H

IC
s

15.46

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow
P1

04
 8

83

MBMA

BA S
P104 646

CB10-HV CP10
PLUG

APPROX

93.5
[3.68]

79.8
[3.14]

57.0
[2.25]

22.9
[0.90]

45.1
[1.77]

18.4
[0.73]

86.4
[3.40]54.9

[2.16]

131.1
[5.16]

APPROX

APPROX

73.9
[2.91]

62.8
[2.47]

MA MB

4X 5/16-18x63.5mm [2.5in]
1/4 in.
24.4 Nm [18 lbf-ft]

HIC Includes:
- 5/16-18 x 2.5" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (2X)
P104 647

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 90-350 bar [1305-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

MM-DH-LS-ACB10-HV-1-C-1-E-100-B-10S

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure
1 = 1 bar [14.5 psi]

Single counterbalance
valve on 'A' port

Type
HV=Hydraulic Vent

Motor mount

Motor code

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Part #
11026319
11026320

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 648

Weight

Pilot ratio

Cartridge V

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
H

-LS-A
C

B
1

0
-H

V



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.47

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow

P1
04

 8
83

MBMA

BA S
P104 646

CB10-HV CP10
PLUG

93.5
[3.68]

APPROX

APPROX

131.1
[5.16]

HIC Includes:
- 5/16-18 x 3.0" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (4X)
- Sub-plate

79.8
[3.14]

57.0
[2.25]

45.1
[1.77]

22.9
[0.90]

86.4
[3.40]54.9

[2.16]

18.4
[0.73]

62.8
[2.47]

86.6
[3.41]

APPROX

MA MB
4X 5/16-18x76.2mm [3.0in]

1/4 in.
24.4 Nm [18 lbf-ft]

P104 649

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 90-350 bar [1305-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

MM-DS-LS-ACB10-HV-1-C-1-E-100-B-10S

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure
1 = 1 bar (14.5 psi)

Single counterbalance
valve on 'A' port

Type
HV=Hydraulic Vent

Motor mount

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Motor code

Part #
11026319
11026320

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 650

Weight

Pilot ratio

Cartridge V

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
S-

LS
-A

C
B

1
0

-H
V



M
o

to
r m

o
u

n
t H

IC
s

15.48

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow
P1

04
 8

83

MBMA

BA S
P104 646

4X M8x1.25x50mm [1.97in]
6mm
40 Nm [30 lbf-ft]

32.0
[1.26]

54.4
[2.14]86.3

[3.40]

29.7
[1.17] 18.4

[0.72]

79.4
[3.12]

96.5
[3.80]

32.4
[1.28]

CP10
PLUG

HIC Includes:
- M8x50mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

CB10-HV

APPROX APPROX

44.7
[1.76]

93.4
[3.68]

MA

MB

APPROX

61.8
[2.43]

50.0
[1.97]

P104 651

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 90-350 bar [1305-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

MM-OMP/OMR-LS-ACB10-HV-1-C-1-E-100-B-10S

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure
1 = 1 bar (14.5 psi)

Single counterbalance
valve on 'A' port

Type
HV=Hydraulic Vent

Motor mount

Motor code

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Part #
11026333
11026334

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 652

Weight

Pilot ratio

Cartridge V

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

P
/O

M
R

-LS-A
C

B
1

0
-H

V



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.49

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

MBMA

BA S
P104 646

38.1
[1.50]

63.5
[2.50]101.6

[4.00]

14.5
[0.57]

99.1
[3.90]76.2

[3.00]61.0
[2.40]

22.9
[0.90]

CP12
PLUG

HIC Includes:
- M8x60mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

4X M8x1.25x60mm [2.36in]
6mm
40 Nm [30 lbf-ft]

CP441-1

APPROX

62.7
[2.47]

74.3
[2.93]

MBMA

APPROX

11.8
[0.46]

APPROX

141.9
[5.59]

P104 653

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Single counterbalance
valve on 'A' port

Motor mount

Motor code

Secondary valve
LS = Load sense shuttle valve

Seals
B = Buna-N
V = Viton

Cartridge seal kit
120335
120336

Part #
11026321
11026332

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 654

(brake valve)

Weight

Pilot ratio

Cartridge

Plug

Motor OMH

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

H
-L

S-
A

C
P

4
4

1
-1



M
o

to
r m

o
u

n
t H

IC
s

15.50

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

MBMA

BA S
P104 646

2X M10x1.5x60mm [2.36in]
8mm
75 Nm [55 lbf-ft]

38.1
[1.50]

32.0
[1.26]

63.5
[2.50]101.6

[4.00]

52.1
[2.05]

111.8
[4.40]

95.1
[3.75]

CP441-1

CP12
PLUG

HIC Includes:
- M10x60mm bolts (2X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

MA MB

142.0
[5.59]

APPROX

11.8
[0.46]

APPROX
74.5
[2.93]

62.7
[2.47]

APPROX

16.5
[0.65]

P104 655

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Cartridge seal kit
120335
120336

Single counterbalance
valve on 'A' port

Secondary valve
LS = Load sense shuttle valve

Motor code

Motor mount

Seals
B = Buna-N
V = Viton

Part #
11026335
11026336

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP P104 656

(brake valve)

Weight

Pilot ratio

Cartridge

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

S-LS-A
C

P
4

4
1

-1



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.51

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

MBMA

BA S
P104 646

39.1
[1.54]

116.8
[4.60]

78.7
[3.10]

157.2
[6.19]

APPROX
128.6
[5.06]

APPROX

22.9
[0.90]

76.2
[3.00]99.1

[3.90]

66.7
[2.63]

CP12
PLUG

CP441-1

HIC Includes:
- M10x60mm bolts (4X)
- (-123) O'rings,Viton

(29.82x2.62 mm) (2X)

4X M10x1.5x60mm [2.36in]
8mm
75 Nm [55 lbf-ft]

MA

APPROX

71.7
[2.82]

62.7
[2.47]

MB

P104 657

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Cartridge seal kit
120335
120336

Seals
B = Buna-N
V = Viton

Single counterbalance
valve on 'A' port

Secondary valve
LS = Load sense shuttle valve

Motor code

Motor mount

Part #
11026337
11026338

Housing and ports
12S = Al, #12SAE
6B = Al, 3/4 BSP P104 658

(brake valve)

Weight

Pilot ratio

Cartridge

Plug

Motor OMT

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

T-
LS

-A
C

P
4

4
1

-1



M
o

to
r m

o
u

n
t H

IC
s

15.52

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow
P1

04
 8

83

S BA

MBMA

P104 659

CP10
PLUG

CB10-HV

79.8
[3.14]

57.0
[2.25]

22.9
[0.90]

45.1
[1.77]

18.4
[0.73]

86.4
[3.40]54.9

[2.16]

131.1
[5.16]

APPROX

APPROX

73.9
[2.91]

62.8
[2.47]

MA MB

4X 5/16-18x63.5mm [2.5in]
1/4 in.
24.4 Nm [18 lbf-ft]

93.5
[3.68]

APPROX

HIC Includes:
- 5/16-18 x 2.5" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (2X)
P104 660

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 90-350 bar [1305-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

MM-DH-LS-BCB10-HV-1-C-1-E-100-B-10S

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure
1 = 1 bar (14.5 psi)

Single counterbalance
valve on 'B' port

Type
HV=Hydraulic Vent

Motor mount

Motor code

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Part #
11026319
11026320

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 661

Weight

Pilot ratio

Cartridge V

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
H

-LS-B
C

B
1

0
-H

V



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.53

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow

P1
04

 8
83

S BA

MBMA

P104 659

CP10
PLUG

CB10-HV

APPROX

93.5
[3.68]

APPROX

131.1
[5.16]

HIC Includes:
- 5/16-18 x 3.0" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (4X)
- Sub-plate

79.8
[3.14]

57.0
[2.25]

45.1
[1.77]

22.9
[0.90]

86.4
[3.40]54.9

[2.16]

18.4
[0.73]

62.8
[2.47]

86.6
[3.41]

APPROX

MA MB

4X 5/16-18x76.2mm [3.0in]
1/4 in.
24.4 Nm [18 lbf-ft]

P104 662

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 90-350 bar [1305-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

MM-DS-LS-BCB10-HV-1-C-1-E-100-B-10S

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure
1 = 1 bar (14.5 psi)

Single counterbalance
valve on 'B' port

Type
HV=Hydraulic Vent

Motor mount

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Motor code

Part #
11026319
11026320

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 663

Weight

Pilot ratio

Cartridge V

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
S-

LS
-B

C
B

1
0

-H
V



M
o

to
r m

o
u

n
t H

IC
s

15.54

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

100

200

300

10 20 30 40 50 60 l/min

5

10

15

20

25

bar

15 US gal/min

psi

0

12963

26 cSt [121 SUS] hyd.oil at 50°C [122°F]

Pilot open

Free flow
P1

04
 8

83

S BA

MBMA

P104 659

4X M8x1.25x50mm [1.97in]
6mm
40 Nm [30 lbf-ft]

32.4
[1.28]

96.5
[3.80]79.4

[3.12]

29.7
[1.17]

86.3
[3.40]

54.4
[2.14]

32.0
[1.26]

18.4
[0.72]

CP10
PLUG

HIC Includes:
- M8x50mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

CB10-HV

APPROX APPROX

7.1
[0.28]

131.1
[5.16]

MA

MB

APPROX

61.8
[2.43]

50.0
[1.97]

P104 664

Pressure range
For pilot ratio A (3:1)
1 = 35-110 bar [507-1595 psi]
2 = 60-150 bar [870-2176 psi]
3 = 80-230 bar [1160-3336 psi]

For pilot ratio B (4.5:1)
1 = 55-180 bar [797-2611 psi]
2 = 75-240 bar [1088-3481 psi]
3 = 90-350 bar [1305- 5076 psi]

For pilot ratio C (10:1)
1 = 90-350 bar [1305-5076 psi]

Cartridge seal kit
354001419
354001519

Seals
B = Buna-N
V = Viton

MM-OMP/OMR-LS-BCB10-HV-1-C-1-E-100-B-10S

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]
See CB10-HV for std. settings

Pilot ratio
A = 3:1
B = 4.5:1
C = 10:1

Check crack pressure
1 = 1 bar (14.5 psi)

Motor mount

Motor code

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Type
HV=Hydraulic Vent

Single counterbalance
valve on 'B' port

Part #
11026333
11026334

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 665

Weight

Pilot ratio

Cartridge V

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

P
/O

M
R

-LS-B
C

B
1

0
-H

V



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.55

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

S BA

MBMA

P104 659

99.1
[3.90]

101.6
[4.00]

CP12
PLUG

HIC Includes:
- M8x60mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

4X M8x1.25x60mm [2.36in]
6mm
40 Nm [30 lbf-ft]

CP441-1

APPROX

62.7
[2.47]

74.3
[2.93]

MBMA

APPROX

40.4
[1.59]

APPROX

113.4
[4.46]

22.9
[0.90]

76.2
[3.00]

14.5
[0.57]

63.5
[2.50]

38.1
[1.50]

P104 666

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

10S-E-A-250-10.0-015

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Single counterbalance
valve on 'B' port

Motor mount

Motor code

Secondary valve
LS = Load sense shuttle valve

Seals
B = Buna-N
V = Viton

Cartridge seal kit
120335
120336

Part #
11026321
11026332

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 667

(brake valve)

Weight

Pilot ratio

Cartridge

Plug

Motor OMH

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

H
-L

S-
B

C
P

4
4

1
-1



M
o

to
r m

o
u

n
t H

IC
s

15.56

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

S BA

MBMA

P104 659

APPROX

62.7
[2.47]

74.5
[2.93] APPROX

40.4
[1.59]

APPROX

113.4
[4.46]

MBMA

HIC Includes:
- M10x60mm bolts (2X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

95.1
[3.75]

111.8
[4.40]

52.1
[2.05]

101.6
[4.00]

63.5
[2.50]

32.0
[1.26]

38.1
[1.50]

2X M10x1.5x60mm [2.36in]
8mm
75 Nm [55 lbf-ft]

CP12
PLUG

CP441-1

16.5
[0.65]

P104 668

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Cartridge seal kit
120335
120336

Single counterbalance
valve on 'B' port

Secondary valve
LS = Load sense shuttle valve

Motor code

Motor mount

Seals
B = Buna-N
V = Viton

Part #
11026335
11026336

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 669

(brake valve)

Weight

Pilot ratio

Cartridge

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

S-LS-B
C

P
4

4
1

-1



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.57

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

5

0

73

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

10

15

20

25

30

145

218

290

363

435

80 120 160 200

21.1 31.7 42.3 52.8

free flow

pilot open

P102 369E

S BA

MBMA

P104 659

39.1
[1.54]

116.8
[4.60]

78.7
[3.10]

157.2
[6.19]

APPROX

22.9
[0.90]

76.2
[3.00]99.1

[3.90]

66.7
[2.63]

CP12
PLUG

128.6
[5.06]

APPROX

CP441-1

HIC Includes:
- M10x60mm bolts (4X)
- (-123) O'rings,Viton

(29.82x2.62 mm) (2X)

4X M10x1.5x60mm [2.36in]
8mm
75 Nm [55 lbf-ft]

MA

APPROX

71.7
[2.82]

62.7
[2.47]

MB

P104 670

Pressure range
See CP441-1 for std. settings
For pilot ratio 3:1
A = 34-103 bar [500-1500 psi]
B = 103-207 bar [1500-3000 psi]

For pilot ratio 4.5:1
A = 34-138 bar [500-2000 psi]
B = 103-345 bar [1500-5000 psi]

For pilot ratio 10:1
A = 69-345 bar [1000-5000 psi]

Adjust type
E = External adjustment
F = Tamper resistant

Cracking pressure
Code x 10 = psi
Example: 050 = 500 psi

Pilot ratio
3.0:1
4.5:1
10.0:1

Free flow check
crack pressure

005 = .34 bar (5 psi)
015 = 1.03 bar (15 psi)

Cartridge seal kit
120335
120336

Seals
B = Buna-N
V = Viton

Single counterbalance
valve on 'B' port

Secondary valve
LS = Load sense shuttle valve

Motor code

Motor mount

Part #
11026337
11026338

Housing and ports
12S = Al, #12SAE
6B = Al, 3/4 BSP P104 671

(brake valve)

Weight

Pilot ratio

Cartridge

Plug

Motor OMT

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

T-
LS

-B
C

P
4

4
1

-1



M
o

to
r m

o
u

n
t H

IC
s

15.58

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

MBMA

BA
P104 905

123.9
[4.88]

55.4
[2.18]

76.2
[3.00]

22.8
[0.90]63.5

[2.50]
86.4
[3.40]

APPROX

62.7
[2.47]

73.9
[2.91]

APPROX

MA MB

4X 5/16-18x63.5mm [2.5in]
1/4 in.
24.4 Nm [18 lbf-ft]

HIC Includes:
- 5/16-18 x 2.5" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (2X)

VME 06
CART. ACART. B

P104 673

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Seals
B = Buna-N
V = Viton

Adjust type
EN = External screw

Dual relief valve

Motor mount

Motor code

Secondary valve
00 = No valve

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Part #
11019307
11019308

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 674

Weight

Cartridge 6

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
H

-0
0

-D
V

M
E0

6



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.59

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

MBMA

BA
P104 905

123.9
[4.88]

55.4
[2.18]

76.2
[3.00]

22.8
[0.90]63.5

[2.50]
86.4
[3.40]

APPROX

62.7
[2.47]

86.6
[3.41]

APPROX

MA MB

4X 5/16-18x76.2mm [3.0in]
1/4 in.
24.4 Nm [18 lbf-ft]

HIC Includes:
- 5/16-18 x 3.0" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (4X)
- Sub-plate

VME 06
CART. ACART. B

P104 675

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Seals
B = Buna-N
V = Viton

Adjust type
EN = External screw

Dual relief valve

Motor mount

Motor code

Secondary valve
00 = No valve

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Part #
11019307
11019308

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 676

Weight

Cartridge 6

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
S-

0
0

-D
V

M
E0

6



M
o

to
r m

o
u

n
t H

IC
s

15.60

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

MBMA

BA
P104 905

100.1
[3.94]

34.4
[1.35]

70.4
[2.77]

41.7
[1.64]

54.8
[2.16]

96.5
[3.80]

APPROX

49.3
[1.94]

37.3
[1.47]

144.2
[5.68]

APPROX

47.7
[1.88]

APPROX

MBMA

HIC Includes:
- M8x40mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

4X M8x1.25x40mm [1.57in]
6mm
40 Nm [30 lbf-ft]

VME 06

CART. A

CART. B

P104 677

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Seals
B = Buna-N
V = Viton

Adjust type
EN = External screw

Dual relief valve

Motor mount

Motor code

Secondary valve
00 = No valve

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Part #
11026341
11026342

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 678

Weight

Cartridge 6

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

P
/O

M
R

-0
0

-D
V

M
E0

6



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.61

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

MBMA

BA
P104 672

CP211-2

4X M8x1.25x50mm [1.97in]
6mm
40 Nm [30 lbf-ft]

MB

MA

APPROXAPPROX

36.5
[1.44]

136.0
[5.36]

APPROX

61.8
[2.43]

50.0
[1.97]

99.6
[3.92]

81.5
[3.21]

17.8
[0.70]

29.4
[1.16]

65.6
[2.58]

95.2
[3.75]

HIC Includes:
- M8x50mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

CART. A

CART. B

P104 679

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Dual relief valve

Motor mount

Motor code

Secondary valve
00 = No valve

Seals
B = Buna-N
V = Viton

Cartridge seal kit
120017
120018

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

Part #
11026339
11026340

P104 680

Weight

Cartridge

Motor OMH

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

H
-0

0
-D

C
P

2
1

1
-2



M
o

to
r m

o
u

n
t H

IC
s

15.62

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

MBMA

BA
P104 672

2X M10x1.5x50mm [1.97in]
8mm
75 Nm [55 lbf-ft]

HIC Includes:
- M10x50mm bolts (2X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

67.1
[2.64]45.1

[1.78]

31.6
[1.24]

112.2
[4.42]

63.6
[2.50]

95.2
[3.75]

50.0
[1.97]

61.9
[2.44]

APPROX

131.7
[5.19]

APPROX

36.5
[1.44]

APPROX

CP211-2

MB

MA

CART. B

CART. A

P104 681

Cartridge seal kit
120017
120018

Seals
B = Buna-N
V = Viton

Secondary valve
00 = No valve

Motor code

Motor mount

Dual relief valve

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Part #
11026343
11026344

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP P104 682

Weight

Cartridge

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

S-0
0

-D
C

P
2

1
1

-2



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.63

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

MBMA

BA
P104 672

30.5
[1.20]

96.5
[3.80]

127.0
[5.00]

99.6
[3.92]

78.7
[3.10]

20.8
[0.82]

58.9
[2.32]

50.0
[1.97]

APPROX

APPROX

36.6
[1.44]

APPROX

136.1
[5.36]

MA

MB

CP211-2

4X M10x1.5x50mm [1.97in]
8mm
75 Nm [55 lbf-ft]

HIC Includes:
- M10x50mm bolts (4X)
- (-123) O'rings,Viton

(29.82x2.62 mm) (2X)

CART. A

CART. B

P104 683

Cartridge seal kit
120017
120018

Seals
B = Buna-N
V = Viton

Secondary valve
00 = No valve

Motor code

Motor mount

Dual relief valve

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Part #
11026345
11026346

Housing and ports
12S = Al, #12 SAE
6B = Al, 3/4 BSP P104 684

Weight

Cartridge

Motor OMT

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

T-
0

0
-D

C
P

2
1

1
-2



M
o

to
r m

o
u

n
t H

IC
s

15.64

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

A B

MA MB

P104 906

123.9
[4.88]

55.4
[2.18]

76.2
[3.00]

22.8
[0.90]63.5

[2.50]
86.4
[3.40]

APPROX

62.7
[2.47]

73.9
[2.91]

APPROX

MA MB

4X 5/16-18x63.5mm [2.5in]
1/4 in.
24.4 Nm [18 lbf-ft]

HIC Includes:
- 5/16-18 x 2.5" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (2X)

VME 06

Cavity plug
kit

CART. A

P104 686

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

Seals
B = Buna-N
V = Viton

Motor mount

Motor code

Secondary valve
00 = No valve

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Adjust type
EN = External screw

Single relief valve
on 'A' port

Part #
11019307
11019308

P104 687

Weight

Cartridge 6

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
H

-0
0

-A
V

M
E0

6



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.65

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

A B

MA MB

P104 906

123.9
[4.88]

55.4
[2.18]

76.2
[3.00]

22.8
[0.90]63.5

[2.50]
86.4
[3.40]

APPROX

62.7
[2.47]

86.6
[3.41]

APPROX

MA MB

4X 5/16-18x76.2mm [3.0in]
1/4 in.
24.4 Nm [18 lbf-ft]

HIC Includes:
- 5/16-18 x 3.0" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (4X)
- Sub-plate

VME 06

Cavity plug
kit

CART. A

P104 688

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Seals
B = Buna-N
V = Viton

Motor mount

Motor code

Secondary valve
00 = No valve

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Single relief valve
on 'A' port

Adjust type
EN = External screw

Part #
11019307
11019308

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 689

Weight

Cartridge 6

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
S-

0
0

-A
V

M
E0

6



M
o

to
r m

o
u

n
t H

IC
s

15.66

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

A B

MA MB

P104 906

Cavity plug
kit

VME 06

4X M8x1.25x40mm [1.57in]
6mm
40 Nm [30 lbf-ft]

HIC Includes:
- M8x40mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

MA MB

APPROX

4.5
[0.18]

APPROX

144.2
[5.68]

37.3
[1.47]

49.3
[1.94]

APPROX
96.5
[3.80]

54.8
[2.16]

41.7
[1.64]

70.4
[2.77]

34.4
[1.35]

100.1
[3.94]

CART. A

P104 690

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Secondary valve
00 = No valve

Motor code

Motor mount

Single relief valve
on 'A' port

Adjust type
EN = External screw

Seals
B = Buna-N
V = Viton

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Part #
11026341
11026342

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 691

Weight

Cartridge 6

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

P
/O

M
R

-0
0

-A
V

M
E0

6



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.67

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

A B

MA MB

P104 685

CP211-2

HIC Includes:
- M8x50mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

95.2
[3.75]65.6

[2.58]
29.4
[1.16]

17.8
[0.70]

81.5
[3.21]

99.6
[3.92]

50.0
[1.97]

61.8
[2.43]

APPROX

136.0
[5.36]

11.8
[0.46]

APPROX APPROX

MA

MB
4X M8x1.25x50mm [1.97in]

6mm
40 Nm [30 lbf-ft]

CP12
PLUG

CART. A

P104 692

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Single relief valve
on 'A' port

Motor mount

Motor code

Secondary valve
00 = No valve

Seals
B = Buna-N
V = Viton

Cartridge seal kit
120017
120018

Part #
11026339
11026340

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP P104 693

Weight

Cartridge

Plug

Motor OMH

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

H
-0

0
-A

C
P

2
1

1
-2



M
o

to
r m

o
u

n
t H

IC
s

15.68

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

A B

MA MB

P104 685

2X M10x1.5x50mm [1.97in]
8mm
75 Nm [55 lbf-ft]

HIC Includes:
- M10x50mm bolts (2X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

67.1
[2.64]45.1

[1.78]

31.6
[1.24]

112.2
[4.42]

63.6
[2.50]

95.2
[3.75]

50.0
[1.97]

61.9
[2.44]

APPROX

131.7
[5.19]

APPROX

11.8
[0.46]

APPROX

CP211-2

CP12
PLUG MB

MA

CART. A

P104 694

Cartridge seal kit
120017
120018

Seals
B = Buna-N
V = Viton

Secondary valve
00 = No valve

Motor code

Motor mount

Single relief valve
on 'A' port

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

Part #
11026343
11026344 P104 695

Weight

Cartridge

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

S-0
0

-A
C

P
2

1
1

-2



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.69

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

A B

MA MB

P104 685

CP211-2

CP12
PLUG

HIC Includes:
- M10x50mm bolts (4X)
- (-123) O'rings,Viton

(29.82x2.62 mm) (2X)

4X M10x1.5x50mm [1.97in]
8mm
75 Nm [55 lbf-ft]

MB

MA

136.2
[5.36]

APPROX

11.8
[0.46]

APPROX

APPROX

50.0
[1.97]

58.9
[2.32]

20.8
[0.82]

78.7
[3.10]

99.6
[3.92]

127.0
[5.00]96.5

[3.80]

30.5
[1.20]

CART. A

P104 696

Cartridge seal kit
120017
120018

Seals
B = Buna-N
V = Viton

Secondary valve
00 = No valve

Motor code

Motor mount

Single relief valve
on 'A' port

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Part #
11026345
11026346

Housing and ports
12S = Al, #12 SAE
6B = Al, 3/4 BSP P104 697

Weight

Cartridge

Plug

Motor OMT

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

T-
0

0
-A

C
P

2
1

1
-2



M
o

to
r m

o
u

n
t H

IC
s

15.70

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

A B

MA MB

P104 907

123.9
[4.88]

55.4
[2.18]

76.2
[3.00]

22.8
[0.90]63.5

[2.50]
86.4
[3.40]

APPROX

62.7
[2.47]

73.9
[2.91]

APPROX

MA MB

4X 5/16-18x63.5mm [2.5in]
1/4 in.
24.4 Nm [18 lbf-ft]

HIC Includes:
- 5/16-18 x 2.5" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (2X)

VME 06

Cavity plug
kit

CART. B

P104 699

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Seals
B = Buna-N
V = Viton

Motor mount

Motor code

Secondary valve
00 = No valve

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Adjust type
EN = External screw

Single relief valve
on 'B' port

Part #
11019307
11019308

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 700

Weight

Cartridge 6

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
H

-0
0

-B
V

M
E0

6



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.71

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

A B

MA MB

P104 907

123.9
[4.88]

55.4
[2.18]

76.2
[3.00]

22.8
[0.90]63.5

[2.50]
86.4
[3.40]

APPROX

62.7
[2.47]

86.6
[3.41]

APPROX

MA MB

4X 5/16-18x76.2mm [3.0in]
1/4 in.
24.4 Nm [18 lbf-ft]

HIC Includes:
- 5/16-18 x 3.0" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (4X)
- Sub-plate

VME 06
CART. B

Cavity plug
kit

P104 701

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Seals
B = Buna-N
V = Viton

Motor mount

Motor code

Secondary valve
00 = No valve

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Adjust type
EN = External screw

Single relief valve
on 'B' port

Part #
11019307
11019308

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 702

Weight

Cartridge 6

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
S-

0
0

-B
V

M
E0

6



M
o

to
r m

o
u

n
t H

IC
s

15.72

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

A B

MA MB

P104 907

Cavity plug
kit

VME 06

4X M8x1.25x40mm [1.57in]
6mm
40 Nm [30 lbf-ft]

HIC Includes:
- M8x40mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

MA

MB

APPROX

47.7
[1.88]

APPROX

101.0
[3.98]

37.3
[1.47]

49.3
[1.94]

APPROX
96.5
[3.80]

54.8
[2.16]

41.7
[1.64]

70.4
[2.77]

34.4
[1.35]

100.1
[3.94]

CART. B

P104 703

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Seals
B = Buna-N
V = Viton

Adjust type
EN = External screw

Single relief valve
on 'B' port

Motor mount

Motor code

Secondary valve
00 = No valve

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Part #
11026341
11026342

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 704

Weight

Cartridge 6

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

P
/O

M
R

-0
0

-B
V

M
E0

6



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.73

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

A B

MA MB

P104 698

CP211-2

HIC Includes:
- M8x50mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

95.2
[3.75]65.6

[2.58]
29.4
[1.16]

17.8
[0.70]

81.5
[3.21]

99.6
[3.92]

50.0
[1.97]

61.8
[2.43]

APPROX

111.3
[4.38]

36.5
[1.44]

APPROX APPROX

MA

MB
4X M8x1.25x50mm [1.97in]

6mm
40 Nm [30 lbf-ft]

CP12
PLUG

CART. B

P104 705

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Single relief valve
on 'B' port

Motor mount

Motor code

Secondary valve
00 = No valve

Seals
B = Buna-N
V = Viton

Cartridge seal kit
120017
120018

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

Part #
11026339
11026340 P104 706

Weight

Cartridge

Plug

Motor OMH

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

H
-0

0
-B

C
P

2
1

1
-2



M
o

to
r m

o
u

n
t H

IC
s

15.74

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

A B

MA MB

P104 698

CART. B

MA

MB

CP12
PLUG

CP211-2

APPROX

36.5
[1.44]

APPROX

107.0
[4.21]

APPROX

61.9
[2.44]

50.0
[1.97]

95.2
[3.75]

63.6
[2.50]

112.2
[4.42]

31.6
[1.24]

45.1
[1.78]

67.1
[2.64]

HIC Includes:
- M10x50mm bolts (2X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

2X M10x1.5x50mm [1.97in]
8mm
75 Nm [55 lbf-ft]

P104 707

Cartridge seal kit
120017
120018

Seals
B = Buna-N
V = Viton

Secondary valve
00 = No valve

Motor code

Motor mount

Single relief valve
on 'B' port

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Part #
11026343
11026344

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP P104 708

Weight

Cartridge

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

S-0
0

-B
C

P
2

1
1

-2



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.75

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

A B

MA MB

P104 698

CP211-2

CP12
PLUG

HIC Includes:
- M10x50mm bolts (4X)
- (-123) O'rings,Viton

(29.82x2.62 mm) (2X)

4X M10x1.5x50mm [1.97in]
8mm
75 Nm [55 lbf-ft]

MB

MA

111.3
[4.38]

APPROX

36.6
[1.44]

APPROX

APPROX

50.0
[1.97]

58.9
[2.32]

20.8
[0.82]

78.7
[3.10]

99.6
[3.92]

127.0
[5.00]96.5

[3.80]

30.5
[1.20]

CART. B

P104 709

Cartridge seal kit
120017
120018

Seals
B = Buna-N
V = Viton

Secondary valve
00 = No valve

Motor code

Motor mount

Single relief valve
on 'B' port

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Housing and ports
12S = Al, #12 SAE
6B = Al, 3/4 BSP

Part #
11026345
11026346 P104 710

Weight

Cartridge

Plug

Motor OMT

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

T-
0

0
-B

C
P

2
1

1
-2



M
o

to
r m

o
u

n
t H

IC
s

15.76

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

S

MBMA

BA
P104 908

123.9
[4.88]

55.4
[2.18]

76.2
[3.00]

22.8
[0.90]

63.5
[2.50]86.4

[3.40]

APPROX

62.7
[2.47]

73.9
[2.91]

APPROX

MA MB

4X 5/16-18x63.5mm [2.5in]
1/4 in.
24.4 Nm [18 lbf-ft]

HIC Includes:
- 5/16-18 x 2.5" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (2X)

VME 06

25.0
[0.98]

34.5
[1.36]

CART. ACART. B

P104 712

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Seals
B = Buna-N
V = Viton

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Motor code

Dual relief valve

Adjust type
EN = External screw

Motor mount

Part #
11019317
11019318

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 713

Weight

Cartridge 6

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
H

-LS-D
V

M
E0

6



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.77

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

S

MBMA

BA
P104 908

123.9
[4.88]

55.4
[2.18]

76.2
[3.00]

22.8
[0.90]

63.5
[2.50]86.4

[3.40]

APPROX

62.7
[2.47]

86.6
[3.41]

APPROX

MA MB

4X 5/16-18x76.2mm [3.0in]
1/4 in.
24.4 Nm [18 lbf-ft]

HIC Includes:
- 5/16-18 x 3.0" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (4X)
- Sub-plate

VME 06

25.0
[0.98]

34.5
[1.36]

CART. ACART. B

P104 714

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Seals
B = Buna-N
V = Viton

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Motor code

Dual relief valve

Adjust type
EN = External screw

Motor mount

Part #
11019317
11019318

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 715

Weight

Cartridge 6

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
S-

LS
-D

V
M

E0
6



M
o

to
r m

o
u

n
t H

IC
s

15.78

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

S

MBMA

BA
P104 908

100.1
[3.94]

34.4
[1.35]

70.4
[2.77]

41.7
[1.64]

54.8
[2.16]

96.5
[3.80]

APPROX

49.3
[1.94]

37.3
[1.47]

144.2
[5.68]

APPROX

47.7
[1.88]

APPROX

MBMA

HIC Includes:
- M8x40mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

4X M8x1.25x40mm [1.57in]
6mm
40 Nm [30 lbf-ft]

VME 06

12.5
[0.49]

67.3
[2.65]

CART. B

CART. A

P104 716

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Secondary valve
LS = Load sense shuttle valve (brake valve)

Motor code

Motor mount

Dual relief valve

Adjust type
EN = External screw

Seals
B = Buna-N
V = Viton

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

Part #
11026349
11026350

P104 717

Weight

Cartridge 6

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

P
/O

M
R

-LS-D
V

M
E0

6



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.79

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

S

MBMA

BA
P104 711

4X M8x1.25x50mm [1.97in]
6mm
40 Nm [30 lbf-ft]

MB

MA

APPROXAPPROX

36.6
[1.44]

136.0
[5.36]

APPROX

61.8
[2.43]

50.0
[1.97]

99.6
[3.92]

81.5
[3.21]

17.8
[0.70]

29.4
[1.16]

65.6
[2.58]

95.2
[3.75]

HIC Includes:
- M8x50mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

TOP VIEW

TOP VIEW

30.5
[1.20] 10.7

[0.42]

CP211-2CART. B

CART. A

P104 718

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Dual relief valve

Motor mount

Motor code

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Seals
B = Buna-N
V = Viton

Cartridge seal kit
120017
120018

Part #
11026347
11026348

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP P104 719

Weight

Cartridge

Motor OMH

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

H
-L

S-
D

C
P

2
1

1
-2



M
o

to
r m

o
u

n
t H

IC
s

15.80

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

S

MBMA

BA
P104 711

2X M10x1.5x50mm [1.97in]
8mm
75 Nm [55 lbf-ft]

HIC Includes:
- M10x50mm bolts (2X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

67.1
[2.64]45.1

[1.78]

31.6
[1.24]

112.2
[4.42]

63.6
[2.50]

95.2
[3.75]

50.0
[1.97]

61.9
[2.44]

APPROX

131.7
[5.19]

APPROX

36.5
[1.44]

APPROX
11.6
[0.46]

26.9
[1.06]

CP211-2

MB

MA

TOP VIEW

TOP VIEW

CART. B

CART. A

P104 720

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Dual relief valve

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Seals
B = Buna-N
V = Viton

Cartridge seal kit
120017
120018

Motor mount

Motor code

Part #
11026351
11026352

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP P104 721

Weight

Cartridge

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

S-LS-D
C

P
2

1
1

-2



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.81

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

S

MBMA

BA
P104 711

58.9
[2.32]

50.0
[1.97]

APPROX

APPROX

36.6
[1.44]

APPROX

136.1
[5.36]

MA

MB

CP211-2

4X M10x1.5x50mm [1.97in]
8mm
75 Nm [55 lbf-ft]

HIC Includes:
- M10x50mm bolts (4X)
- (-123) O'rings,Viton

(29.82x2.62 mm) (2X)

70.4
[2.77]

127.0
[5.00]96.5

[3.80]

30.5
[1.20]

20.8
[0.82]

99.6
[3.92]

78.7
[3.10]

60.0
[2.36]

CART. A

CART. B

P104 722

Cartridge seal kit
120017
120018

Seals
B = Buna-N
V = Viton

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Motor code

Motor mount

Dual relief valve

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Part #
11026353
11026354

Housing and ports
12S = Al, #12 SAE
6B = Al, 3/4 BSP P104 723

Weight

Cartridge

Motor OMT

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

T-
LS

-D
C

P
2

1
1

-2



M
o

to
r m

o
u

n
t H

IC
s

15.82

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

A B

MA MB

S
P104 909

62.7
[2.47]

73.9
[2.91]

APPROX

MA MB

4X 5/16-18x63.5mm [2.5in]
1/4 in.
24.4 Nm [18 lbf-ft]

HIC Includes:
- 5/16-18 x 2.5" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (2X)

VME 06

Cavity plug
kit

123.9
[4.88]

55.4
[2.18]

76.2
[3.00]

22.8
[0.90]

25.0
[0.98]

63.5
[2.50]86.4

[3.40]

34.5
[1.36]

APPROX

CART. A

P104 725

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Seals
B = Buna-N
V = Viton

Motor mount

Motor code

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Adjust type
EN = External screw

Single relief valve
on 'A' port

Secondary valve
LS = Load sense shuttle

valve (Brake valve)
Part #
11019317
11019318

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 726

Weight

Cartridge 6

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
H

-LS-A
V

M
E0

6



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.83

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

A B

MA MB

S
P104 909

62.7
[2.47]

86.6
[3.41]

APPROX

MA MB

4X 5/16-18x76.2mm [3.0in]
1/4 in.
24.4 Nm [18 lbf-ft]

HIC Includes:
- 5/16-18 x 3.0" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (4X)
- Sub-plate

VME 06

Cavity plug
kit

123.9
[4.88]

55.4
[2.18]

76.2
[3.00]

22.8
[0.90]

25.0
[0.98]

63.5
[2.50]86.4

[3.40]

34.5
[1.36]

APPROX

CART. A

P104 727

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Seals
B = Buna-N
V = Viton

Motor mount

Motor code

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Adjust type
EN = External screw

Single relief valve
on 'A' port

Secondary valve
LS = Load sense shuttle

valve (Brake valve)
Part #
11019317
11019318

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 728

Weight

Cartridge 6

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
S-

LS
-A

V
M

E0
6



M
o

to
r m

o
u

n
t H

IC
s

15.84

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

A B

MA MB

S
P104 909

100.1
[3.94]

34.4
[1.35]

70.4
[2.77]

APPROX

49.3
[1.94]

37.3
[1.47]

144.2
[5.68]

APPROX

4.5
[0.18]

APPROX

MBMA

HIC Includes:
- M8x40mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

4X M8x1.25x40mm [1.57in]
6mm
40 Nm [30 lbf-ft]

VME 06

Cavity plug
kit

12.5
[0.49]

67.3
[2.65]96.5

[3.80]

54.8
[2.16]

41.7
[1.64]

CART. A

P104 729

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Seals
B = Buna-N
V = Viton

Adjust type
EN = External screw

Single relief valve
on 'A' port

Motor mount

Motor code

Secondary valve
LS = Load sense shuttle valve (brake valve)

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Part #
11026349
11026350

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 730

Weight

Cartridge 6

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

P
/O

M
R

-LS-A
V

M
E0

6



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.85

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

A B

MA MB

S
P104 724

4X M8x1.25x50mm [1.97in]
6mm
40 Nm [30 lbf-ft]

TOP VIEW CP12
PLUG

MB

MA

APPROXAPPROX

11.8
[0.46]

136.0
[5.36]

APPROX

61.8
[2.43]

50.0
[1.97]

99.6
[3.92]

81.5
[3.21]

17.8
[0.70]

29.4
[1.16]

65.6
[2.58]

95.2
[3.75]

HIC Includes:
- M8x50mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

CP211-2

10.7
[0.42]TOP VIEW

30.5
[1.20]

CART. A

P104 731

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Single relief valve
on 'A' port

Motor mount

Motor code

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Seals
B = Buna-N
V = Viton

Cartridge seal kit
120017
120018

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

Part #
11026347
11026348 P104 732

Weight

Cartridge

Plug

Motor OMH

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

H
-L

S-
A

C
P

2
1

1
-2



M
o

to
r m

o
u

n
t H

IC
s

15.86

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

A B

MA MB

S
P104 724

2X M10x1.5x50mm [1.97in]
8mm
75 Nm [55 lbf-ft]

HIC Includes:
- M10x50mm bolts (2X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

67.1
[2.64]45.1

[1.78]

31.6
[1.24]

112.2
[4.42]

63.6
[2.50]

95.2
[3.75]

50.0
[1.97]

61.9
[2.44]

APPROX

131.7
[5.19]

APPROX

11.8
[0.46]

APPROX
11.6
[0.46]

26.9
[1.06]

CP211-2

CP12
PLUG MB

MA

TOP VIEW

TOP VIEW

CART. A

P104 733

Cartridge seal kit
120017
120018

Seals
B = Buna-N
V = Viton

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Motor code

Motor mount

Single relief valve
on 'A' port

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Part #
11026351
11026352

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP P104 734

Weight

Cartridge

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

S-LS-A
C

P
2

1
1

-2



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.87

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

A B

MA MB

S
P104 724

60.0
[2.36] 78.7

[3.10]99.6
[3.92]

20.8
[0.82]

30.5
[1.20]

96.5
[3.80]

127.0
[5.00]

70.4
[2.77]

CP211-2

CP12
PLUG

HIC Includes:
- M10x50mm bolts (4X)
- (-123) O'rings,Viton

(29.82x2.62 mm) (2X)

4X M10x1.5x50mm [1.97in]
8mm
75 Nm [55 lbf-ft]

MB

MA

136.2
[5.36]

APPROX

11.8
[0.46]

APPROX

APPROX

50.0
[1.97]

58.9
[2.32]

CART. A

P104 735

Cartridge seal kit
120017
120018

Seals
B = Buna-N
V = Viton

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Motor code

Motor mount

Single relief valve
on 'A' port

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Part #
11026353
11026354

Housing and ports
12S = Al, #12 SAE
6B = Al, 3/4 BSP

P104 736

Weight

Cartridge

Plug

Motor OMT

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

T-
LS

-A
C

P
2

1
1

-2



M
o

to
r m

o
u

n
t H

IC
s

15.88

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

A B

MA MB

S
P104 910

62.7
[2.47]

73.9
[2.91]

APPROX

MA MB

4X 5/16-18x63.5mm [2.5in]
1/4 in.
24.4 Nm [18 lbf-ft]

HIC Includes:
- 5/16-18 x 2.5" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (2X)

123.9
[4.88]

55.4
[2.18]

76.2
[3.00]

22.8
[0.90]

25.0
[0.98]

63.5
[2.50]86.4

[3.40]

34.5
[1.36]

APPROX

VME 06
CART. B

Cavity plug
kit

P104 738

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Seals
B = Buna-N
V = Viton

Motor mount

Motor code

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Adjust type
EN = External screw

Single relief valve
on 'B' port

Secondary valve
LS = Load sense shuttle

valve (Brake valve)
Part #
11019317
11019318

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 739

Weight

Cartridge 6

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
H

-LS-B
V

M
E0

6



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.89

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

A B

MA MB

S
P104 910

62.7
[2.47]

86.6
[3.41]

APPROX

MA MB

4X 5/16-18x76.2mm [3.0in]
1/4 in.
24.4 Nm [18 lbf-ft]

HIC Includes:
- 5/16-18 x 3.0" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (4X)
- Sub-plate

123.9
[4.88]

55.4
[2.18]

76.2
[3.00]

22.8
[0.90]

25.0
[0.98]

63.5
[2.50]86.4

[3.40]

34.5
[1.36]

APPROX

VME 06
CART. B

Cavity plug
kit

P104 740

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Seals
B = Buna-N
V = Viton

Motor mount

Motor code

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Adjust type
EN = External screw

Single relief valve
on 'B' port

Secondary valve
LS = Load sense shuttle

valve (Brake valve)
Part #
11019317
11019318

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

P104 741

Weight

Cartridge 6

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
S-

LS
-B

V
M

E0
6



M
o

to
r m

o
u

n
t H

IC
s

15.90

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 396E

100

200

300

400

0

1000

2000

3000

4000

5000

psi bar

0 4 8 12 16

0 1 2 3 4

0 minimum setting value

l/min

US gal/min

26 mm °C [ ° F]²/sec (cSt) [124 SUS] @ 50 122

Flow

A B

MA MB

S
P104 910

12.5
[0.49]

67.3
[2.65]96.5

[3.80]

54.8
[2.16]

41.7
[1.64]

Cavity plug
kit

VME 06

4X M8x1.25x40mm [1.57in]
6mm
40 Nm [30 lbf-ft]

HIC Includes:
- M8x40mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

MA

MB

APPROX

47.7
[1.88]

APPROX

101.0
[3.98]

37.3
[1.47]

49.3
[1.94]

APPROX

70.4
[2.77]

34.4
[1.35]

100.1
[3.94]

CART. B

P104 742

Cracking pressure (bar)
Example: 100 = 100 bar [1450 psi]

Secondary valve
LS = Load sense shuttle valve (brake valve)

Motor code

Motor mount

Single relief valve
on 'B' port

Adjust type
EN = External screw

Seals
B = Buna-N
V = Viton

Setting range
1 = 25-70 bar [363-1015 psi]
2 = 35-170 bar [508-2466 psi]
3 = 70-315 bar [1015-4569 psi]

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

Part #
11026349
11026350

P104 743

Weight

Cartridge 6

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

P
/O

M
R

-LS-B
V

M
E0

6



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.91

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

A B

MA MB

S
P104 737

4X M8x1.25x50mm [1.97in]
6mm
40 Nm [30 lbf-ft]

10.7
[0.42]TOP VIEW

30.5
[1.20]

TOP VIEW
CP211-2

HIC Includes:
- M8x50mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

95.2
[3.75]65.6

[2.58]
29.4
[1.16]

17.8
[0.70]

81.5
[3.21]

99.6
[3.92]

50.0
[1.97]

61.8
[2.43]

APPROX

111.3
[4.38]

36.5
[1.44]

APPROX APPROX

MA

MB

CP12
PLUG

CART. B

P104 744

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Single relief valve
on 'B' port

Motor mount

Motor code

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Seals
B = Buna-N
V = Viton

Cartridge seal kit
120017
120018

Part #
11026347
11026348

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP P104 745

Weight

Cartridge

Plug

Motor OMH

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

H
-L

S-
B

C
P

2
1

1
-2



M
o

to
r m

o
u

n
t H

IC
s

15.92

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

A B

MA MB

S
P104 737

2X M10x1.5x50mm [1.97in]
8mm
75 Nm [55 lbf-ft]

HIC Includes:
- M10x50mm bolts (2X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

67.1
[2.64]45.1

[1.78]

31.6
[1.24]

112.2
[4.42]

63.6
[2.50]

95.2
[3.75]

50.0
[1.97]

61.9
[2.44]

APPROX

107.0
[4.21]

APPROX

36.5
[1.44]

APPROX
11.6
[0.46]

26.9
[1.06]

CP211-2

CP12
PLUG

MB

MA

TOP VIEW

TOP VIEW

CART. B

P104 746

Cartridge seal kit
120017
120018

Seals
B = Buna-N
V = Viton

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Motor code

Motor mount

Single relief valve
on 'B' port

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Part #
11026351
11026352

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP P104 747

Weight

Cartridge

Plug

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

S-LS-B
C

P
2

1
1

-2



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.93

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

154 SUS (33 cSt) hyd. oil @ 100° F (38° C)

50

0

725

psi bar

P
re

ss
u

re
d

ro
p

40L/min
Flow

10.6US gal/min

100

150

200

250

300

1,450

2,176

2,901

3,626

4,351

80 120 160 200

21.1 31.7 42.3 52.8
P102 125E

A B

MA MB

S
P104 737

60.0
[2.36] 78.7

[3.10]99.6
[3.92]

20.8
[0.82]

30.5
[1.20]

96.5
[3.80]

127.0
[5.00]

70.4
[2.77]

CP211-2

CP12
PLUG

HIC Includes:
- M10x50mm bolts (4X)
- (-123) O'rings,Viton

(29.82x2.62 mm) (2X)

4X M10x1.5x50mm [1.97in]
8mm
75 Nm [55 lbf-ft]

MB

MA

111.3
[4.38]

APPROX

36.6
[1.44]

APPROX

APPROX

50.0
[1.97]

58.9
[2.32]

CART. B

P104 748

Pressure range
See CP211-2 for std. settings
A = 14-69 bar [200-800 psi]
B = 21-103 bar [300-1500 psi]
C = 28-207 bar [400-3000 psi]
D = 28-345 bar [400-5000 psi]

Adjust type
A = Internal E = External
F = Tamper resistant K = Knob

Crack pressure
Code x 10 = psi
Example: 050 = 500 psi

Single relief valve
on 'B' port

Motor mount

Motor code

Secondary valve
LS = Load sense shuttle

valve (Brake valve)

Seals
B = Buna-N
V = Viton

Cartridge seal kit
120017
120018

Part #
11026353
11026354

Housing and ports
12S = Al, #12 SAE
6B = Al, 3/4 BSP P104 749

Weight

Cartridge

Plug

Motor OMT

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

T-
LS

-B
C

P
2

1
1

-2



M
o

to
r m

o
u

n
t H

IC
s

15.94

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 626E

MBMA

BA D
P104 750

MB

MA

HIC Includes:
- 5/16-18 x 2.5" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (4X) 79.8
[3.14]

74.2
[2.92]

22.6
[0.89]

62.7
[2.47]

73.9
[2.91]

22.6
[0.89]

56.5
[2.22]

38.1
[1.50]

151.1
[5.95]

56.1
[2.21]

APPROX

APPROX

SVP10-NCR

4X 5/16-18x63.5mm [2.5in]
1/4 in.
24.4 8 lb t]

Secondary valve
00 = No valve

Motor code

Motor mount

Solenoid valve

Coil termination
00 = No connector AJ = Amp Junior
FL = Flying Lead SP = Spade*
DN = Din 43650* AS = Amp SuperSeal 1.5 and
DE = Deutsch Metri-Pack 150 Series Type 1

Seals
B = Buna-N
V = Viton

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

Coil voltage
00 = No coil
12D = 12 VDC (Standard Coil)
24D = 24 VDC (Standard Coil)
R12D = 12 VDC (R-Coil)
R24D = 24 VDC (R-Coil)

Filter 300 μM
N = No filter (standard)
F = with filter

Part #
11026356
11026357

P104 752

M3 = Metri-Pack 150 Series Type 2

*

* These terminations not available on robust coil (R12D, R24D)

Weight

Cartridge

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
H

-0
0

-SV
P

1
0

-N
C

R



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.95

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 626E

MBMA

BA D
P104 750

MB

MA

HIC Includes:
- 5/16-18 x 3.0" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (4X) 79.8
[3.14]

74.2
[2.92]

22.6
[0.89]

62.7
[2.47]

86.6
[3.41]

22.6
[0.89]

56.5
[2.22]

38.1
[1.50]

151.1
[5.95]

56.1
[2.21]

APPROX

APPROX

SVP10-NCR

4X 5/16-18x76.2mm [3.0in]
1/4 in
24.4 8 lb t]

Secondary valve
00 = No valve

Motor code

Motor mount

Solenoid valve

Coil termination
00 = No connector AJ = Amp Junior*
FL = Flying Lead SP = Spade*
DN = Din 43650* AS = Amp SuperSeal 1.5 and
DE = Deutsch Metri-Pack 150 Series Type 1

Seals
B = Buna-N
V = Viton

Filter 300 μM
N = No filter (standard)
F = with filter

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

Part #
11026356
11026357

Coil voltage
00 = No coil
12D = 12 VDC (Standard Coil)
24D = 24 VDC (Standard Coil)
R12D = 12 VDC (R-Coil)
R24D = 24 VDC (R-Coil)

P104 754

M3 = Metri-Pack 150 Series Type 2* These terminations not available on robust coil (R12D, R24D)

Weight

Cartridge

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
S-

0
0

-S
V

P
1

0
-N

C
R



M
o

to
r m

o
u

n
t H

IC
s

15.96

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 626E

MBMA

BA D
P104 750

99.1
[3.90]65.8

[2.59]
23.3
[0.92]

40.3
[1.59]

70.9
[2.79]

43.7
[1.72]

62.7
[2.47]

74.3
[2.93]

71.4
[2.81]

69.9
[2.75]

39.9
[1.57]

APPROX

4X M8x1.25x60mm [2.36in]
6mm
40 N m

APPROX

MA

MB

HIC Includes:
- M8x60mm bo s (4X)
- (-119) O'rings,V on

(23.47x2.62 mm) (2X)

SVP10-NCR

P104 755

Secondary valve
00 = No valve

Motor code

Motor mount

Solenoid valve

Coil termination
00 = No connector AJ = Amp Junior
FL = Flying Lead SP = Spade*
DN = Din 43650* AS = Amp SuperSeal 1.5 and
DE = Deutsch Metri-Pack 150 Series Type 1

Seals
B = Buna-N
V = Viton

Filter 300 μM
N = No filter (standard)
F = With filter

Part #
11026358
11026359

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

Coil voltage
00 = No coil
12D = 12 VDC (Standard Coil)
24D = 24 VDC (Standard Coil)
R12D = 12 VDC (R-Coil)
R24D = 24 VDC (R-Coil)

P104 756

M3 = Metri-Pack 150 Series Type 2* These terminations not available on robust coil (R12D, R24D)

*

Weight

Cartridge

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

P
/O

M
R

-0
0

-SV
P

1
0

-N
C

R



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.97

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 626E

MBMA

BA D
P104 750

SVP10-NCRHIC Includes:
- M8x60mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

MB

MA

APPROX

4X M8x1.25x60mm [2.36in]
6mm
40 t]

APPROX

39.9
[1.57]

69.9
[2.75]

71.4
[2.81]

74.3
[2.93]62.7

[2.47]
43.7
[1.72]

70.9
[2.79]

40.3
[1.59]

23.3
[0.92]

65.8
[2.59]

99.1
[3.90]

Secondary valve
00 = No valve

Motor code

Motor mount

Solenoid valve

Coil termination
00 = No connector AJ = Amp Junior*
FL = Flying Lead SP = Spade*
DN = Din 43650* AS = Amp SuperSeal 1.5 and
DE = Deutsch Metri-Pack 150 Series Type 1

Seals
B = Buna-N
V = Viton

Filter 300 μM
N = No filter (standard)
F = with filter

Housing and ports
10S = Al, #10SAE
4B = Al, 1/2 BSP

Part #
11026358
11026359

Coil voltage
00 = No coil
12D = 12 VDC (Standard Coil)
24D = 24 VDC (Standard Coil)
R12D = 12 VDC (R-Coil)
R24D = 24 VDC (R-Coil)

P104 758

M3 = Metri-Pack 150 Series Type 2* These terminations not available on robust coil (R12D, R24D)

Weight

Cartridge

Motor OMH

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

H
-0

0
-S

V
P

1
0

-N
C

R



M
o

to
r m

o
u

n
t H

IC
s

15.98

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 626E

MBMA

BA D
P104 750

SVP10-NCR

61.0
[2.40]

18.7
[0.74]

43.8
[1.72]

75.9
[2.99]

48.3
[1.90]

74.2
[2.92]

30.3
[1.19]

53.9
[2.12]

38.1
[1.50]62.7

[2.47]
74.5
[2.93]

APPROX

MA

MB
2X M10x1.5x60mm [2.36in]

8mm
75 N m

HIC Includes:
- M10x60mm b (2X)
- (-119) O'rings,V on

(23.47x2.62 mm) (2X)

APPROX

P104 759

Secondary valve
00 = No valve

Motor code

Motor mount

Solenoid valve

Coil termination
00 = No connector AJ = Amp Junior*
FL = Flying Lead SP = Spade*
DN = Din 43650* AS = Amp SuperSeal 1.5 and
DE = Deutsch Metri-Pack 150 Series Type 1

Seals
B = Buna-N
V = Viton

Housing and ports Part #
10S = Al, #10SAE 11019331
4B = Al, 1/2 BSP 11019332

Filter 300 μM
N = No filter (standard)
F = with filter

Coil voltage
00 = No coil
12D = 12 VDC (Standard Coil)
24D = 24 VDC (Standard Coil)
R12D = 12 VDC (R-Coil)
R24D = 24 VDC (R-Coil) P104 760

M3 = Metri-Pack 150 Series Type 2* These terminations not available on robust coil (R12D, R24D)

Weight

Cartridge

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

S-0
0

-SV
P

1
0

-N
C

R



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.99

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

P103 626E

MBMA

BA D
P104 750

CP502-3

MA

4X M10x1.5x60mm [2.36in]
8mm
75 Nm [55 lbf-ft]

132.1
[5.20]

59.7
[2.35]

79.2
[3.12]

66.8
[2.63]

7.6
[0.30]

APPROX

APPROX

HIC Includes:
- M10x60mm bolts (4X)
- (-123) O'rings,Viton

(29.82x2.62 mm) (2X)

MB

99.6
[3.92]

25.3
[1.00]

37.7
[1.49]

75.5
[2.97]

84.9
[3.34]

APPROX

72.8
[2.87]

P104 761

Secondary valve
00 = No valve

Motor code

Motor mount

Solenoid valve

Coil termination
0 = No connector H = Din 43650
S = Spade DE = Deutsch
L = Lead M2 = Metri-Pack 150

Type 1

Housing and ports Part #
12S = Al, #12 SAE 11019333
6B = Al, 3/4 BSP 11019334

Coil voltage
000 = No coil
12D = 12 VDC
24D = 24 VDC

Cartridge seal kit
120019
120020

Seals
B = Buna-N
V = Viton

P104 762

Weight

Cartridge 3

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

T-
0

0
-C

P
5

0
2

-3



M
o

to
r m

o
u

n
t H

IC
s

15.100

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

Q

3510 250
Q

30 US gal/min20155

350

300

250

150

200

400

5000

3000

4000

100

50
1000

0

2000

6000

140 l/min12080 100604000 20

P104 764

MBMA

BA D

A B

P104 763

60.5
[2.38]

21.9
[0.86]

76.2
[3.00]53.3

[2.10]

37.3
[1.47]

48.5
[1.91]

10.7
[0.42]

13.7
[0.54]

MA

7.3
[0.29]

23.1
[0.91]

APPROX

APPROX

MB

HIC Includes:
- 5/16-18 x 1.5" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (4X)

4X 5/16-18x38.1mm [1.5in]
1/4in
24.4 8 lb t]

PVLP

Secondary valve
00 = No valve

Motor code

Motor mount

Dual shock valve

Pressure setting (Bar)
100 = 100 bar [1450 psi]
125 = 125 bar [1813 psi]
150 = 150 bar [2175 psi]
175 = 175 bar [2538 psi]
190 = 190 bar [2755 psi]
210 = 210 bar [3045 psi]
230 = 230 bar [3335 psi]

Housing and ports
S8S = 11L17 or Ductile, #8 SAE
S3B = 11L17 or Ductile, 3/8 BSP

Part #
11019335
11019336

P104 766

Weight

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
H

-0
0

-D
P

V
LP



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.101

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

Q

3510 250
Q

30 US gal/min20155

350

300

250

150

200

400

5000

3000

4000

100

50
1000

0

2000

6000

140 l/min12080 100604000 20

P104 764

MBMA

BA D

A B

P104 763

60.5
[2.38]

21.9
[0.86]

76.2
[3.00]53.3

[2.10]

37.3
[1.47]

61.2
[2.41]

10.7
[0.42]

13.7
[0.54]

MA

7.3
[0.29]

23.1
[0.91]

APPROX

APPROX

MB

HIC Includes:
- 5/16-18 x 2.0" bolts (4X)
- (-112) O'rings,Viton

(12.37x2.62 mm) (4X)
- Sub-plate

4X 5/16-18x50.8mm [2.0in]
1/4in
24.4 8 lb t]

PVLP

Secondary valve
00 = No valve

Motor code

Motor mount

Dual shock valve

Pressure setting (Bar)
100 = 100 bar [1450 psi]
125 = 125 bar [1813 psi]
150 = 150 bar [2175 psi]
175 = 175 bar [2538 psi]
190 = 190 bar [2755 psi]
210 = 210 bar [3045 psi]
230 = 230 bar [3335 psi]

Housing and ports
S8S = 11L17 or Ductile, #8 SAE
S3B = 11L17 or Ductile, 3/8 BSP

Part #
11019335
11019336

P104 768

Weight

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-D
S-

0
0

-D
P

V
LP



M
o

to
r m

o
u

n
t H

IC
s

15.102

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

Q

3510 250
Q

30 US gal/min20155

350

300

250

150

200

400

5000

3000

4000

100

50
1000

0

2000

6000

140 l/min12080 100604000 20

P104 764

MBMA

BA D

A B

P104 763

MA

HIC Includes:
- M8x50mm bolts (4X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

4X M8x1.25x50mm [1.97in]
6mm
40 t]

APPROX

APPROX

APPROX

34.9
[1.37]

44.4
[1.75]

7.3
[0.29]

63.1
[2.48]

50.8
[2.00]

21.0
[0.83]

69.8
[2.75]

47.2
[1.86]

96.2
[3.79]

70.0
[2.75]

18.7
[0.74]

88.9
[3.50]

PVLP

MB

Pressure setting (Bar)
100 = 100 bar [1450 psi]
125 = 125 bar [1813 psi]
150 = 150 bar [2175 psi]
175 = 175 bar [2538 psi]
190 = 190 bar [2755 psi]
210 = 210 bar [3045 psi]
230 = 230 bar [3335 psi]

Dual shock valve

Motor mount

Motor code

Secondary valve
00 = No valve

Part #
11026360
11026361

Housing and ports
S10S = 11L17 or Ductile, #10SAE
S4B = 11L17 or Ductile, 1/2 BSP

P104 770

anticavitation checks that mounts to 

Weight

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

P
/O

M
R

-0
0

-D
P

V
LP



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.103

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

Q

3510 250
Q

30 US gal/min20155

350

300

250

150

200

400

5000

3000

4000

100

50
1000

0

2000

6000

140 l/min12080 100604000 20

P104 764

MBMA

BA D

A B

P104 763

MB

PVLP

88.9
[3.50]

18.7
[0.74] 70.0

[2.75]

96.2
[3.79]

47.2
[1.86]

69.8
[2.75]

21.0
[0.83]

50.8
[2.00]

63.1
[2.48]

7.3
[0.29]

44.4
[1.75]

34.9
[1.37]

APPROX

APPROX

APPROX

4X M8x1.25x50mm [1.97in]
6mm
40 t]

HIC I :
- M8x50mm (4X)
- (-119) O ,Vit

(23.47x2.62 mm) (2X)

MA

Secondary valve
00 = No valve

Motor code

Motor mount

Dual shock valve

Housing and ports
S10S = 11L17 or Ductile, #10SAE
S4B = 11L17 or Ductile, 1/2 BSP

Pressure setting (Bar)
100 = 100 bar [1450 psi]
125 = 125 bar [1813 psi]
150 = 150 bar [2175 psi]
175 = 175 bar [2538 psi]
190 = 190 bar [2755 psi]
210 = 210 bar [3045 psi]
230 = 230 bar [3335 psi]

Part #
11026360
11026361

P104 772

anticavitation checks that mounts 

Weight

Motor OMH

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

H
-0

0
-D

P
V

LP



M
o

to
r m

o
u

n
t H

IC
s

15.104

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

Q

3510 250
Q

30 US gal/min20155

350

300

250

150

200

400

5000

3000

4000

100

50
1000

0

2000

6000

140 l/min12080 100604000 20

P104 764

MBMA

BA D

A B

P104 763

MB

MA
2X M10x1.5x50mm [1.97in]

8mm
75 Nm [55 lbf-ft]

HIC Includes:
- M10x50mm bolts (2X)
- (-119) O'rings,Viton

(23.47x2.62 mm) (2X)

50.8
[2.00]

34.3
[1.35]

62.7
[2.47]

44.4
[1.75]

23.3
[0.92]

40.2
[1.58]

63.5
[2.50]

28.2
[1.11]

60.7
[2.39]

88.9
[3.50]

3.6
[0.14]

APPROX

92.4
[3.64]

APPROX

APPROX
PVLP

P104 774

Secondary valve
00 = No valve

Motor code

Motor mount

Dual shock valve

Housing and ports Part #
S10S = 11L17 or Ductile, #10SAE 11019339
S4B = 11L17 or Ductile, 1/2 BSP 11019340

Pressure setting (Bar)
100 = 100 bar [1450 psi]
125 = 125 bar [1813 psi]
150 = 150 bar [2175 psi]
175 = 175 bar [2538 psi]
190 = 190 bar [2755 psi]
210 = 210 bar [3045 psi]
230 = 230 bar [3335 psi]

P104 775

anticavitation checks that mounts 

Weight

Motor

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

S-0
0

-D
P

V
LP



M
o

to
r 

m
o

u
n

t 
H

IC
s

15.105

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

ORDERING
INFORMATION

SPECIFICATIONS

DIMENSIONS

OPERATION

Introduction Quick reference Index

Q

3510 250
Q

30 US gal/min20155

350

300

250

150

200

400

5000

3000

4000

100

50
1000

0

2000

6000

140 l/min12080 100604000 20

P104 764

MBMA

BA D

A B

P104 763

MB

HIC Includes:
- M10x50mm bolts (4X)
- (-123) O'rings,Viton

(29.82x2.62 mm) (2X)

4X M10x1.5x50mm [1.97in]
8mm
75 t]

86.4
[3.40]

101.6
[4.00]

30.8
[1.21]

70.8
[2.79]

40.3
[1.59]

63.3
[2.49]

13.7
[0.54]

14.0
[0.55]

93.7
[3.69]

107.7
[4.24]

50.8
[2.00]

59.9
[2.36]

APPROX

APPROX

APPROX

APPROX

MA

PVLP
Valve

Secondary valve
00 = No valve

Motor code

Motor mount

Dual shock valve

Pressure setting (Bar)
100 = 100 bar [1450 psi]
125 = 125 bar [1813 psi]
150 = 150 bar [2175 psi]
175 = 175 bar [2538 psi]
190 = 190 bar [2755 psi]
210 = 210 bar [3045 psi]
230 = 230 bar [3335 psi]

Part #
11026364
11026365

Housing and ports
S10S = 11L17 or Ductile, #10SAE
S4B = 11L17 or Ductile, 1/2 BSP

P104 777

anticavitation checks that mounts 

Weight

Motor OMT

Theoretical performance

Schematic

Cross-sectional view

Specifications

M
M

-O
M

T-
0

0
-D

P
V

LP



M
o

to
r m

o
u

n
t H

IC
s

15.106

Cartridge Valves Technical Information
Motor Mount HICs

520L0588

Introduction Quick reference Index


